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7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - -| 100kN/mM#%#8% % - -~ -|3mEi#BZ B ~ -
Fhst - -~ - Fhest -~ Fhst -~ ZhLst ~
2 100kN/m%E8z25| 1.00 | -1.39 ~ -159| 113.79 |3mEEz 3 -~ -] 100kN/m#zE#BZ5 | .00 | 1053 ~ 1327| 11379 |3mZEBZS ~
Fhst 1.00 | 139 ~ 139 100.00| Thst | 139 ~ -139| 2.19 11.07 Fhst 1.00 | 5.00 ~ 1053 100.00 | Thbs | 500 ~ 1327|219 11.07
3 100kN/mM%E#z25| 1.00 | -1.42 ~ -142| 109.54 |3mE#z25 ~ -] 100kN/mMZ#B25 | 1.00 | 1054 ~ 1239 109.54 |3m%EiBZ% ~
Fhst 100|142 ~ -142| 100.00 | TNnLSY | 142 ~ -142| 2.17 10.94 Fhst 1.00 | 5.00 ~ 1054 100.00 | ThLS | 500 ~ 1239|217 10.94
4 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B ~
Fhst 100|000 ~ 673 87.07 | #Fnst | 000 ~ 0.00| 1.76 8.88 Fhst 100|500 ~ 845 87.07 | #nst | 5,00 ~ 845 1.76 888
5 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B ~
Fhst 100|000 ~ 715 90.84 | #Fhst | 000 ~ 000|173 872 Fhst 1.00 | 500 ~ 9.05 90.84 | #nst | 500 ~ 9.05| 1.73 872
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B ~
Fhst 100|000 ~ 732 9324 | #FhS | 000 ~ 732| 1.90 9.60 Fhst 1.00 | 5.00 ~ 9.83 9324 | #nst | 500 ~ 9.85| 1.90 9.60
- 100kN/mM%E#BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B ~
Fhst 100|000 ~ 702 89.12 | #nst | 000 ~ 702| 1.87 9.47 Fhst 1.00 | 500 ~ 9.04 89.12 | #hSt | 500 ~ 9.04| 1.87 9.47
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B ~
Fhst 100|000 ~ 674 85.17 | #nst | 0.00 ~ 6.74| 2.01 10.16 Fhst 1.00 | 5.00 ~ 9.39 85.17 | =St | 5,00 ~ 9.39| 201 10.16
9 100kN/ Mm% 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B ~
Fhst 100|000 ~ 619 77.77 | FnRS | 0.00 ~ 619 2.10 10.61 Fhst 1.00 | 500 ~ 9.08 77.77 | TS | .00 ~ 9.08)| 2.10 10.61
10 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM%#8% % ~ -|3mEi#BZ B ~
Fhst 1.00 | 000 ~ 468 5835 | #nst | 000 ~ 4.68| 1.95 9.84 Fhst 1.00 | 500 ~ 535 5835 | #nSt | 500 ~ 635| 1.95 9.84
11 100kN/ Mm% 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B ~
Fhst 100|000 ~ 462 57.63 | #Fns | 000 ~ 462| 1.87 9.43 Fhst 1.00 | 5.00 ~ 5.00 57.63 | =hst | 500 ~ 5.00| 1.87 9.43
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
Fhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/mM%E#BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMEBZD ~
Fhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
Fhst ~ ZFhst ~ Fhst ~ ZzhLst ~
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
Fhst ~ FhLst ~ ZFhLst ~ ZzhLst ~




